Alg Il Section 5.5 Part 1 Notes December 05, 2014

5 . 5 Apply the Remainder and Factor Theorems

Use polynomial long division
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m Use polynomial long division

Divide using polynomial long division.
Cx*+ P +x—1)+ (x*+2x—-1)
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m Use polynomial long division with a linear divisor

Divide f(x) = x® + 52 — 7x + 2by x — 2.
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m Use synthetic division
Divide f(x) = x* + 5x* — 7x + 2byx — 2. N T
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m Use synthetic division

Divide f(x) = 2x® + x? — 8x + 5 by x + 3 using synthetic division.
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USING LONG DIVISION Divide using polynomial long division.

7. B3+ 11x2+4x+1) = (x% + x)
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5 . 5 Apply the Remainder and Factor Theorems

Factor a polynomial

Factor the polynomial completely given that x — 4 is a factor.

flx) =x—6x%2+5x+ 12 %-4=0
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Factor a polynomial

Factor f(x) = 3x®> — 4x? — 28x — 16 completely given that x + 2 is a factor.
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One zero of f(x) = x* — 2x* — 23x + 60 is x = 3. What is another zero of f?
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Find the other zeros of fgiven that f(—2) = 0.

flo) =x>+2x2—9x— 18 @
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FACTOR Given polynomial f(x) and a factor of f(x), factor f(x) completely.

@f(.r—) =x>+2x2—5lx+108;x+9
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FIND ZEROS Given polynomial function fand a zero of f, find the other zeros.
3 2 ~
29. f(x) =x” —2x°—21x—18; =3
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